Bid Results

Bidder Details

Vendor Name J & A Engineering Corp.

Address 824 N. Todd Avenue

Azusa, California 91702-2228

United States
Respondee Miguel Miranda

Respondee Title Owner

Phone 626-334-3209

Email Admin@jnafence.com

Vendor Type License # CADIR

Bid Detail

Bid Format Electronic

Submitted 08/11/2022 1:32 PM (PDT)

Delivery Method Bid Responsive

Bid Status Submitted Confirmation # 300848

Respondee Comment

Buyer Comment

Attachments

File Title

PD Fence Bid _ Documents.pdf

PD Fence Installation - Bid Bond.pdf

File Name
PD Fence Bid _ Documents.pdf
PD Fence Installation - Bid Bond.pdf

File Type
General Attachment
Bid Bond

Page 2 of 4

Printed 08/11/2022

Subcontractors

No Subcontractors

Discount Terms No Discount

Item #	Item Code	Туре	Item Description	иом	QTY	Unit Price	Line Total	Response	Comment
GENERAL									
1			MOBILIZATION/ DEMOBILIZATION	LS	1	\$12,000.00	\$12,000.00	Yes	
2			CLEARING, GRUBBING, AND MISCELLANEOUS REMOVALS	LS	1	\$4,000.00	\$4,000.00	Yes	
3			BEST MANAGEMENT PRACTICE, WPCP AND NPDES REQUIREMENTS PER BID DOCUMENTS	LS	1	\$5,000.00	\$5,000.00	Yes	
CIVIL-STREET							\$319,725.44		
4			CONSTRUCT 8' BROWN POWDER COATED WROUGHT IRON PEDESTRIAN ACCESS GATE (5' WIDE) WITH PERFORATED METAL SCREEN PER DETAIL "A", SHEET 4, INCLUDING KEYPAD.	EA	1	\$9,800.00	\$9,800.00	Yes	
5			CONSTRUCT 8' BROWN POWDER COATED WROUGHT IRON PEDESTRIAN ACCESS GATE (5' WIDE) WITH PERFORATED METAL SCREEN PER DETAIL "B", SHEET 4, INCLUDING KEYPAD	EA	1	\$9,800.00	\$9,800.00	Yes	
6			CONSTRUCT 8' BROWN POWDER COATED WROUGHT IRON SWING GATE, 12' WIDE, PER DETAIL "B", SHEET 4, AND 1/2 HP HEAVY DUTY MOTOR CONNECTED TO EXIT AND CLOSE LOOP DETECTOR, REMOTE ENTRY AND KEYPAD INSTALLED FOR ROLLING GATE, INCLUDING KNOX BOX TO BE LOCATED PER FIRE DEPARTMENT REQUIREMENTS.	EA	1	\$17,500.00	\$17,500.00	Yes	
7			CONSTRUCT 8' BROWN POWDER COATED WROUGHT IRON PEDESTRIAN ACCESS GATE (5' WIDE) WITH PERFORATED METAL SCREEN PER DETAIL "C", SHEET 5, INCLUDING KEYPAD, ADJACENT 2.5' WIDE FENCE PANELS AND PERFORATED METAL SCREENS.	EA	3	\$8,333.00	\$24,999.00	Yes	
8			CONSTRUCT 8' BROWN POWDER COATED WROUGHT IRON ROLLING GATE, 12' WIDE, PER DETAIL "A", SHEET 4, INCLUDING REQUIRED TRACK AND 1/2 HP (1 FT/SEC) HEAVY DUTY MOTOR WITH EXIT AND CLOSE LOOP DETECTOR, REMOTE ENTRY AND KEYPAD, AND KNOX BOX TO BE LOCATED PER FIRE DEPARTMENT REQUIREMENTS.	EA	1	\$17,500.00	\$17,500.00	Yes	
9			CONSTRUCT 8' BROWN POWDER COATED WROUGHT IRON SWING GATE, 12' WIDE, PER DETAIL "A", SHEET 4, AND 1/2 HP HEAVY DUTY MOTOR CONNECTED TO EXIT AND CLOSE LOOP DETECTOR, REMOTE ENTRY AND KEYPAD INSTALLED FOR ROLLING GATE, INCLUDING KNOX BOX TO BE LOCATED PER FIRE DEPARTMENT REQUIREMENTS.	EA	1	\$17,500.00	\$17,500.00	Yes	
10			CONSTRUCT 8' BROWN POWDER COATED WROUGHT IRON ROLLING GATE, 12' WIDE, PER DETAIL "B", SHEET 4, INCLUDING REQUIRED TRACK AND 1/2 HP (1 FT/SEC) HEAVY DUTY MOTOR WITH EXIT AND CLOSE LOOP DETECTOR, REMOTE ENTRY AND KEYPAD, AND KNOX BOX TO BE LOCATED PER FIRE DEPARTMENT REQUIREMENTS.	EA	1	\$17,500.00	\$17,500.00	Yes	
11			CONSTRUCT 8' BROWN POWDER COATED WROUGHT IRON FENCING PER DETAIL "D", SHEET 5.	LF	430	\$279.07	\$120,000.10	Yes	
12			CONSTRUCT 2' BROWN POWDER COATED FENCING CORED IN EXISTING 8" CMU BLOCK WALL WITH ARROWHEAD/SPEARS PER DETAILS "E" AND "F", SHEET 5	LF	50	\$300.00	\$15,000.00	Yes	
13			CONSTRUCT 2.5' BROWN POWDER COATED FENCING CORED IN EXISTING 8" CMU BLOCK WALL WITH ARROWHEAD/SPEARS PER DETAILS "E" AND "F", SHEET 5.	LF	25	\$125.00	\$3,125.00	Yes	
14			INSTALL 16' HSS 5" X 5" X 1/4" FENCE POST, IN PLACE OF 2" POSTS, FOR CAMERA INSTALLATION PER STRUCTURAL DETAIL, SHEET 2	EA	4	\$3,000.00	\$12,000.00	Yes	
15			REMOVE EXISTING PCC SIDEWALK AND CONSTRUCT 4" DECORATIVE CONCRETE TO MATCH EXISTING COLOR AND PATTERN	SF	482	\$51.87	\$25,001.34	Yes	
16			INSTALL ALL ELECTRICAL SYSTEM IMPROVEMENTS, AS SHOWN ON PLANS, FOR COMPLETE AND FULLY FUNCTIONAL SYSTEM IMPROVEMENTS	LS	1	\$30,000.00	\$30,000.00	Yes	
CIVIL-TRAFFIC							\$17,550.00		
17			TEMPORARY TRAFFIC CONTROL FOR THE ENTIRE PROJECT DURATION	LS	1	\$11,200.00	\$11,200.00	Yes	
18			SIGNING AND STRIPING COMPLETE PER CONTRACT PLANS	LS	1	\$6,350.00	\$6,350.00	Yes	

Line Item Subtotals

Section Title	Line Total
GENERAL	\$21,000.00
CIVIL-STREET	\$319,725.44
CIVIL-TRAFFIC	\$17,550.00
Grand Total	\$358,275.44